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{Write your Roll No. on the top immediately on receipt of this question paper}
Note :— (i} Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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(i) The maximum marks printed on the question paper
are applicable for the students of Category ‘B’. These
marks will, however, be scaled down proportionately
in respect of the students of Category ‘A’ at the time
of posting of awards for compilation of result.
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Attempt three questions in all, including Question No. 1
which is compuisory. All parts of a question must be answered
together, Use of simple calculator is permitted.
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(2) 4362
Given Mean = 70, Mode = 72. Find median using empirical

relationship among them

Show whether follow.ng statement is correct ?
No. of observations 10, Mean 5, S$.D. 2 and coefficient

of variation 60%.
Describe the components of Time Series.

For a given set of data two regression coefficient are 1.2
and 1.3. Do you think this is correct ? Give reasons for

your answer.

Which is the most appropriate average for construction

of Index Numbers ? Sx2=10
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(¢«) Describe the various functions and limitations of

statistics. 8

(h)  For the two firms A and B, the following details are

available :

Firm A Firm B
No. of employees 100 200
Average Salary per employee T 1,600 T 1,800
Standard Deviation of Salary i6 20
Calculate :
{) ~ Which firm pays larger package of salary ?

(¢} Which firm shows greater variability in distribution

of salary?

(i)  Compute the combined average salary and

combined variance of both the firms, 12
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What is cotrelation ? Does it always signify cause and

effect relationship ? 8

Calculate Karl Pearson’s coefficient of correlation between

variables X and Y from the following data : 12
X Y
25 0
40
30 40
A 15
10
5
10
15

15
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X Y
P 10
40 25
30 40
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10 20
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(a}  Find the trend of the following time series by the method

of moving average (a four yearly cycle) : 10
Year Value
1997 53
19938 o
1669 76
2600 66
2001 69
2002 |
2003 105
2004 38
2005 80
2006 104
2007 98
2008 %
2009 102
2010 106
{(h)  Calculate the Fisher’s Ideal Price Index from the following
data : 10
Commodity Year Year
2009-10 2010-11
Price Value Price Value
A 10 10 12 %
B 8 % 8 104
C 12 144 15 120
D X 300 25 250
E 5 40 8 61
F 2 2 4 P
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T kG
1997 3
1968 9
1999 6
2000 &
2001 %
2002 o
2003 105
2004 8
2005 &
2006 14
2007 9
2008 9%
2009 102
2010 106
(@) Frefafan =fiwg & frr eyt wima g
gftwfad sifsg .
o EL| EL]
' 2609-10 2010-11
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10 100 12 9%

B 8 % 8 104

127 144 5 120

D 2 300 % 250

E 5 40 8 o

F 2 2 4 A
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5. (@) Define and differentiate between Primary data and

Secondary data. Also mention the various sources of

obtaining secondary data. 10

(b) The following data shows the marks obtained by 100
students in an examination :

Marks No. of Students

0—16 10

10—20 9

2030 25

3040 30

40--50 10

50--60 6
Draw a ‘less than’ and ‘more than® ogive curve for the -
above data. 10
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0—10 10

10—20 9

2030 %

30—40 30

40—50 10
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